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[bookmark: _Ref165266342]Introduction
According to the RAN2#115-e meeting discussion [1], RAN2 made the following agreements for the data volume computation of the SDT selection criteria:
	· Data volume used for SDT selection criteria is calculated as the total sum of Buffer Size across SDT RBs (i.e. same approach as BSR).


In this contribution, we provide our understandings on the above RAN2 agreement so as to have aligned UE behaviours captured in the MAC specification.
Discussion
1.1 Computation of data volume for SDT
According to the MAC running CR of the SDT [2], the data volume for SDT is calculated as follows:
	[bookmark: _Hlk79688968]5.x	Small Data Transmission
…
1>	if the data volume of the pending UL data accorss all logical channels configured for SDT according to the data volume calculation procedure in TSs 38.322 [3] and 38.323 [4] (The size of the RLC headers and MAC subheaders are not considered in the data volume computation.) is less or equal than sdt-DataVolumeThreshold; and


As quoted above, “the size of the RLC headers and MAC subheaders are not considered in the data volume computation”. Then both the SDAP header and the PDCP header would be counted for the data volume use However when an application packet (e.g. an IP packet) arrives at a DRB, the L2 entities (e.g. SDAP and PDCP) of the AS layer would need to include the SDAP header and the PDCP header. 


Figure 1: Data volume computation step in the SDT procedure
According to the SDT procedure as illustrated above, when the UE calculates the data volume for determining whether the UE should perform the SDT procedure, the SDT RB is still suspended. Then the data from the suspended SDT DRB would arrive at the PDCP layer as the PDCP SDU, because the SDAP entity does not have any L2 buffer. According to the buffer size counted in the BSR, the SDAP header should be counted for the data volume computation, but the PDCP header of the SDT RB should not be counted for the data volume computation used for the SDT selection criteria. 
Observation: The application packet for the suspended SDT DRB arrives at the PDCP layer as the PDCP SDU, because the SDAP entity does not have any L2 buffer.
Proposal 1: The PDCP header is not considered for the data volume computation.
According to the MAC running CR as quoted above, it is not clear whether the RRCResumeRequest message is counted for the data volume computation. According to the SDT procedure, when the SDT is triggered, the UE would anyway need to send the RRCResumeRequest message together with the data of the SDT RB. It is straightforward to include the size of the RRCResumeRequest message in the data volume calculation.
Proposal 2: The data volume used for SDT selection criteria includes the RRCResumeRequest message.
Conclusions
According to the analysis given above, we have the following observation and proposals:
[bookmark: _Toc502437832]Observation: The application packet for the suspended SDT DRB arrives at the PDCP layer as the PDCP SDU, because the SDAP entity does not have any L2 buffer.
Proposal 1: The PDCP header is not considered for the data volume computation.
Proposal 2: The data volume used for SDT selection criteria includes the RRCResumeRequest message.
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